

# Column continuous transition functions<sup>☆</sup>

Yangrong Li

*School of Mathematics and Finance, Southwest China University, Chongqing 400715, PR China*

Received 16 September 2005

Available online 22 June 2006

Submitted by J. Rosinski

---

## Abstract

A column continuous transition function is by definition a standard transition function  $P(t)$  whose every column is continuous for  $t \geq 0$  in the norm topology of bounded sequence space  $l_\infty$ . We will prove that it has a stable  $q$ -matrix and that there exists a one-to-one relationship between column continuous transition functions and increasing integrated semigroups on  $l_\infty$ . Using the theory of integrated semigroups, we give some necessary and sufficient conditions under which the minimal  $q$ -function is column continuous, in terms of its generator (of the Markov semigroup) as well as its  $q$ -matrix. Furthermore, we will construct all column continuous  $Q$ -functions for a conservative, single-exit and column bounded  $q$ -matrix  $Q$ . As applications, we find that many interesting continuous-time Markov chains (CTMCs), say Feller–Reuter–Riley processes, monotone processes, birth–death processes and branching processes, etc., have column continuity.

© 2006 Elsevier Inc. All rights reserved.

**Keywords:** Continuous-time Markov chains; Transition functions;  $q$ -Matrices; Integrated semigroups; Generators

---

## 1. Introduction

We shall in this paper study a generalization of Feller–Reuter–Riley transition functions (FRR), which play a key role in continuous-time Markov chains (CTMCs). See [1,3,4,11,12,15,18].

We consider CTMCs on a linear ordered set, that is, we take the state space  $E = Z^+ = \{0, 1, 2, \dots\}$ , and assume that all transition functions are standard, as in Anderson [1]. For more notations and preliminaries, we refer to Anderson [1] and Chen [5].

---

<sup>☆</sup> Supported by National Natural Science Foundation of China (No. 19871067).  
E-mail address: [liyr@swnu.edu.cn](mailto:liyr@swnu.edu.cn).

**Definition 1.1.** A transition function  $P(t) = (P_{ij}(t); i, j \in E)$  is called to be column continuous if

$$P_{ij}(t) \rightarrow \delta_{ij} \quad \text{uniformly in } i \in E \text{ as } t \rightarrow 0 \text{ for every } j \in E. \quad (1.1)$$

Obviously,  $P(t)$  is column continuous if and only if  $P(t)e_j \rightarrow e_j$  in the norm topology of  $l_\infty$  as  $t \downarrow 0$  for every  $j \in E$ , where  $e_j$  is the  $j$ th column unit vector. In other words, every column of  $P(t)$  is continuous in  $l_\infty$  for  $t \geq 0$ . This is the reason why we call it *column* continuity.

Although a transition function is always *row* continuous (see [1, Proposition 1.1.3]), that is,

$$P_{ij}(t) \rightarrow \delta_{ij} \quad \text{uniformly in } j \in E \text{ as } t \rightarrow 0 \text{ for every } i \in E, \quad (1.2)$$

it is not necessarily column continuous, the example (no column continuity) is easy given by our discussions. However, many interesting and useful transition functions are column continuous. Reuter and Riley [15] proved that FRR transition function is column continuous. More examples (contain monotone processes, birth–death processes, branching processes) are given in Section 6.

Recall that a transition function  $P(t)$  deduces a positive contraction continuous semigroup on  $l_1$ . We denote  $\Omega$  be its generator. Another similar notation is the so-called  $q$ -matrix  $Q = (q_{ij}; i, j \in E)$ ,  $Q = P'(0)$  componentwise, and satisfying

$$0 \leq q_{ij} < +\infty \quad \forall i, j \in E, i \neq j; \quad (1.3)$$

$$\sum_{j \neq i} q_{ij} \leq -q_{ii} \equiv q_i \leq +\infty \quad \forall i \in E. \quad (1.4)$$

If  $q_i < +\infty$  for every  $i \in E$ ,  $Q$  is called to be stable. It is well known that there always exists a (Feller) minimal  $Q$ -function for a given stable  $q$ -matrix  $Q$ , where a  $Q$ -function means a transition function  $P(t)$  such that  $P'(0) = Q$  componentwise. For the details, we refer to Anderson [1].

An interesting property of a column continuous transition function  $P(t)$  is that it has a stable  $q$ -matrix (Theorem 2.2). More importantly, we will consider the following two questions:

**Question 1.** What are the necessary and sufficient conditions for a transition function  $P(t)$  being column continuous, in terms of its generator  $\Omega$ ?

**Question 2.** For a given (stable)  $q$ -matrix  $Q$ , what are the necessary and sufficient conditions for the minimal  $Q$ -function to be column continuous? How is it for the non-minimal case?

To study the above two questions, we will use the theory of integrated semigroups, which introduced by Arendt [2], and extensively developed by many authors (see [6–11,16], etc.). It has many applications to the partial differential equations. However, it is the recent event that the theory of integrated semigroups has been used to deal with the CTMCs (see [11]). In this paper, we will show that there exists a one-to-one relationship between column continuous transition functions and increasing contraction integrated semigroups (Section 3). By using this fact, we give a complete answer to Question 1 (Theorem 3.1), and give a partial answer to Question 2 (Theorem 4.2). For the non-minimal case, we concentrate our attention upon a special class of  $q$ -matrices: conservative, single-exit and column bounded. For such a  $q$ -matrix  $Q$ , we will construct *all* column continuous  $Q$ -functions (Theorem 5.1).

## 2. Basic properties of column continuous transition functions

We first give some equivalent conditions of column continuity.

**Proposition 2.1.** Let  $P(t) = (P_{ij}(t); i, j \in E)$  be a transition function. Then the followings are equivalent:

- (i)  $P(t)$  is column continuous;
- (ii)  $\sup_{i \neq j} P_{ij}(t) \rightarrow 0$  as  $t \downarrow 0$  for every  $j \in E$ ;
- (iii) the mapping  $t \mapsto P(t)e_j$  from  $[0, \infty)$  into  $l_\infty$  is continuous, for every column unit vector  $e_j, j \in E$ ;
- (iv) the mapping  $t \mapsto P(t)x$  is continuous from  $[0, \infty)$  into  $l_\infty$  for every  $x \in c_0$ .

**Proof.** (i)  $\Leftrightarrow$  (ii) is obvious, since  $P(t)$  is standard,  $P_{ij}(t) \rightarrow \delta_{ij}$  as  $t \downarrow 0$  for every  $i, j \in E$ . (iv)  $\Rightarrow$  (iii)  $\Rightarrow$  (i) is clear. (i)  $\Rightarrow$  (iii) is elementary and standard. We have only to prove (iii)  $\Rightarrow$  (iv). Let  $Z = \{x \in l_\infty; t \mapsto P(t)x \text{ is continuous in } l_\infty\}$ . It is easy to prove that  $Z$  is a closed subspace of  $l_\infty$ . Thus  $c_0 = \overline{\text{Span}_{j \in E}\{e_j\}} \subset Z$ , which proved (iv).  $\square$

We then give an interesting result of column continuity.

**Theorem 2.2.** Every column continuous transition function  $P(t)$  has a stable  $q$ -matrix  $Q$ .

**Proof.** We have to prove that

$$\lim_{h \rightarrow 0} \frac{1 - P_{jj}(h)}{h} = q_j < +\infty \quad \text{for every } j \in E. \quad (2.1)$$

Let  $j \in E$  be fixed, and  $\varepsilon$  be given such that  $0 < \varepsilon < \frac{1}{4}$ . Since  $P(t)$  is column continuous, there exists a  $\delta > 0$  such that

$$|P_{ij}(t) - \delta_{ij}| < \varepsilon \quad \text{for } 0 \leq t < \delta \text{ and all } i \in E.$$

Thus, if  $0 \leq t, s < \delta$ , we have

$$\begin{aligned} 1 - P_{jj}(t+s) &= 1 - P_{jj}(t)P_{jj}(s) - \sum_{i \neq j} P_{ji}(s)P_{ij}(t) \\ &\geq 1 - P_{jj}(t)P_{jj}(s) - \varepsilon(1 - P_{jj}(s)) \\ &= 1 - P_{jj}(t) + (P_{jj}(t) - \varepsilon)(1 - P_{jj}(s)) \\ &= 1 - P_{jj}(t) + (1 - (1 - P_{jj}(t)) - \varepsilon)(1 - P_{jj}(s)) \\ &\geq 1 - P_{jj}(t) + (1 - 2\varepsilon)(1 - P_{jj}(s)). \end{aligned}$$

Writing  $f(\mu) = 1 - P_{jj}(\mu)$ , this becomes

$$f(t+s) \geq f(t) + (1 - 2\varepsilon)f(s) \quad (2.2)$$

for  $0 \leq t, s < \delta$ . Iterating (2.2), we find that

$$f(t+ns) \geq f(t) + n(1 - 2\varepsilon)f(s) \quad (2.3)$$

provided  $t, s \geq 0$  and  $t+ns < \delta$ .

Now for any  $0 < h < \delta$ , let  $\delta = t(h) + n(h)h$  such that  $n(h)$  is an integer and  $0 \leq t(h) < h$ . Then (2.3) implies that

$$\frac{f(h)}{h} \leq \frac{1}{n(h)h(1 - 2\varepsilon)} f(\delta).$$

Letting  $h \rightarrow 0$ , and using the fact that  $n(h)h \rightarrow \delta$ , we obtain that

$$q_j = \lim_{h \rightarrow 0} \frac{1 - P_{jj}(h)}{h} = \lim_{h \rightarrow 0} \frac{f(h)}{h} \leq \frac{f(\delta)}{\delta(1 - 2\varepsilon)} < +\infty.$$

Finally we state that the column continuity can also be characterized through the resolvent function. Its proof is not elementary, we will give the proof by using the theory of integrated semigroups in Section 3.  $\square$

Recall that a function  $R(\lambda) = (r_{ij}(\lambda))$ ;  $i, j \in E$ ,  $\lambda > 0$ , is called to be a *resolvent function* if

- (i)  $r_{ij}(\lambda) \geq 0$  and  $\lambda \sum_{k \in E} r_{ik}(\lambda) \leq 1$  for all  $i, j \in E$  and  $\lambda > 0$ ;
- (ii)  $r_{ij}(\lambda) - r_{ij}(\mu) + (\lambda - \mu) \sum_{k \in E} r_{ik}(\lambda) r_{kj}(\mu) = 0$  for all  $i, j \in E$  and  $\lambda, \mu > 0$ ;
- (iii)  $\lim_{\lambda \rightarrow \infty} \lambda r_{ii}(\lambda) = 1$  for all  $i \in E$ .

It is also well known that a transition function  $P(t) = (P_{ij}(t))$  can be uniquely determined by a resolvent function  $R(\lambda) = (r_{ij}(\lambda))$  through the Laplace transform

$$r_{ij}(\lambda) = \int_0^{\infty} e^{-\lambda t} P_{ij}(t) dt, \quad \lambda > 0, i, j \in E.$$

**Definition 2.3.** A resolvent function  $R(\lambda) = (r_{ij}(\lambda))$  is column continuous if

$$\lambda r_{ij}(\lambda) \rightarrow \delta_{ij} \quad \text{uniformly in } i \text{ as } \lambda \rightarrow \infty \text{ for every } j \in E, \quad (2.4)$$

or equivalently if  $\lambda R(\lambda) e_j \rightarrow e_j$  as  $\lambda \rightarrow \infty$  in  $l_\infty$  for every  $j \in E$ .

**Theorem 2.4.** Let  $P(t)$  be a transition function and  $R(\lambda)$  be the corresponding resolvent function. Then  $P(t)$  is column continuous if and only if  $R(\lambda)$  is.

### 3. Characterizations of generators of column continuous semigroups

Let  $P(t)$  be a transition function. It is well known that  $P(t)$  is a positive continuous contraction semigroup on  $l_1$ , where the operator  $P(t)$  is defined by  $y \mapsto yP(t)$ ,  $y \in l_1$  being regarded as a row vector. Note that the dual operator  $P^*(t)$  on  $l_\infty$  of  $P(t)$  can be written as  $x \mapsto P(t)x$ ,  $x \in l_\infty$  being a column vector. The following result states that column continuity can be characterized through its generator  $\Omega$ , which answers Question 1.

**Theorem 3.1.** Let  $P(t)$  be a transition function, and  $\Omega$  be the generator of semigroup  $P(t)$  on  $l_1$ . Then  $P(t)$  is column continuous if and only if

$$e_j \in \overline{D(\Omega^*)} \quad \text{for every } j \in E, \quad (3.1)$$

where  $e_j$  is the  $j$ th column unit vector,  $\Omega^*$  is the dual operator of  $\Omega$  and  $\overline{D(\Omega^*)}$  is the closure of the domain of  $\Omega^*$ .

To prove the above theorem, we will use the theory of integrated semigroups (see [2,6–11,16], etc.).

**Definition 3.2.** [2] A strongly continuous family  $\{T(t); t \geq 0\}$  of bounded linear operators on a Banach space  $X$  is called to be an *integrated semigroup* if  $T(0) = 0$  and

$$T(t)T(s)x = \int_0^t (T(\tau + s) - T(\tau))x \, d\tau \quad (3.2)$$

for all  $t, s \geq 0$  and  $x \in X$ . Moreover,  $T(t)$  is *non-degenerate* if  $T(t)x = 0$  for all  $t \geq 0$  implies  $x = 0$ . The generator  $A$  of  $T(t)$  is defined by

$$D(A) = \left\{ x \in X, \text{ there exists } y \in X \text{ such that } T(t)x = tx + \int_0^t T(r)y \, dr, t \geq 0 \right\}$$

with

$$Ax = y \quad \text{for } x \in D(A).$$

Recall that an operator  $A$  generates an exponentially bounded and non-degenerate integrated semigroup  $T(t)$  if and only if  $(\omega, +\infty) \subset \rho(A)$  for some  $\omega \in \mathbb{R}$  and  $\lambda \mapsto (\lambda - A)^{-1}/\lambda$  is a Laplace transformation. In this case,

$$(\lambda - A)^{-1} = \int_0^\infty \lambda e^{-\lambda t} T(t) \, dt \quad \text{for } \lambda > \omega. \quad (3.3)$$

The following theorem states that there exists a one-to-one relationship between column continuous transition functions and increasing contraction integrated semigroups on  $l_\infty$ .

**Theorem 3.3.** Let  $P(t) = (P_{ij}(t))$  be a column continuous transition function and write

$$T_{ij}(t) = \int_0^t P_{ij}(s) \, ds \quad \text{for } i, j \in E, t \geq 0. \quad (3.4)$$

Then  $T(t) = (T_{ij}(t))$  is an integrated semigroup on  $l_\infty$ , and satisfies

- (i)  $T(t)$  is non-degenerate;
- (ii)  $\|T(t)\| \leq t$  for all  $t \geq 0$ ;
- (iii)  $T(t)$  is increasing;
- (iv)  $e_j \in \overline{D(\Omega_\infty)}$  for every  $j \in E$ , where  $\Omega_\infty$  is the generator of  $T(t)$ .

Conversely, if  $T(t) = (T_{ij}(t))$  is an integrated semigroup satisfying (i)–(iv), then there exists a unique column continuous transition function  $P(t)$  such that (3.4) holds. Moreover, we have

- (v)  $\Omega_\infty = \Omega^*$ ,  $\Omega$  is the generator of semigroup  $P(t)$  on  $l_1$ .

**Proof.** In [11], I have proved that if  $P(t)$  is a transition function, then  $T(t)$  defined as in (3.4) is an integrated semigroup. We will prove (i)–(v) provided  $P(t)$  is column continuous.

(i) Let  $x = (x_j) \in l_\infty$  such that  $T(t)x = 0$  for all  $t \geq 0$ . Then

$$\sum_j \frac{1}{t} \int_0^t P_{ij}(s) ds x_j = 0 \quad \text{for } i \in E \text{ and } t \geq 0. \quad (3.5)$$

Letting  $t \rightarrow 0$ , by using bounded convergence theorem (here, the bounded controlling function is taken as follows: Fixed  $i \in E$  and let  $c = \min_{0 \leq s \leq 1} P_{ii}(s)$ , then  $c > 0$ . Since  $P_{ij}(1) \geq P_{ii}(1-s)P_{ij}(s)$ , it follows that  $P_{ij}(s) \leq P_{ij}(1)/P_{ii}(1-s) \leq P_{ij}(1)/c$  for  $0 \leq s \leq 1$ . Therefore  $|\frac{1}{t} \int_0^t P_{ij}(s) ds x_j| \leq P_{ij}(1)|x_j|/c$  for every  $j \in E$  and  $0 \leq t \leq 1$ . Now the right-hand side is just the needed bounded function, because  $\sum_j P_{ij}(1)|x_j| \leq \|x\| < +\infty$ ), we get

$$\begin{aligned} \lim_{t \rightarrow 0} \sum_j \frac{1}{t} \int_0^t P_{ij}(s) ds x_j &= \sum_j \lim_{t \rightarrow 0} \frac{1}{t} \int_0^t P_{ij}(s) ds x_j \\ &= \sum_j P_{ij}(0)x_j = \sum_j \delta_{ij}x_j = x_i \end{aligned}$$

for every  $i \in E$ . Thus (3.5) implies that  $x_i = 0$  for all  $i \in E$ . That is,  $x = 0$ . Thus  $T(t)$  is non-degenerate.

(ii) and (iii) are elementary, since  $P(t)$  is contractive and positive.

(iv) For every fixed  $j \in E$ , by Proposition 2.1,  $P(t)e_j$  is continuous on  $l_\infty$  for  $t \geq 0$ . Thus  $\int_0^t P(s)e_j ds$  is integrable on  $l_\infty$ . Therefore, for every row unit vector  $e_i \in l_1$ , we have

$$\left\langle e_i, \int_0^t P(s)e_j ds \right\rangle = \int_0^t \langle e_i, P(s)e_j \rangle ds = \int_0^t P_{ij}(s) ds = \langle e_i, T(t)e_j \rangle.$$

Since  $\text{Span}\{e_i\}$  is dense in  $l_1$ , above equality implies that  $T(t)e_j = \int_0^t P(s)e_j ds \in l_\infty$  for  $t \geq 0$ . Since  $T(t)e_j \in \overline{D(\Omega_\infty)}$  (see [2, Corollary 3.4]), it follows that  $e_j = \lim_{t \rightarrow 0} \frac{1}{t} \int_0^t P(s)e_j ds = \lim_{t \rightarrow 0} \frac{1}{t} T(t)e_j \in \overline{D(\Omega_\infty)}$ , which proved (iv).

(v) Since  $\Omega$  generates the continuous contraction semigroup  $P(t)$  on  $l_1$ , it follows from [2, Corollary 4.4] and [11, Corollary 3.7] that  $\Omega^*$  generates an integrated semigroup  $S(t)$  on  $l_\infty$ . We show that  $S(t) = T(t)$  for all  $t \geq 0$ . If this is true, then their generator  $\Omega^*$  and  $\Omega_\infty$  agree. By Yosida [17],  $(\lambda - \Omega^*)^{-1} = ((\lambda - \Omega)^{-1})^*$ . Thus if  $x \in l_\infty$ , by using Laplace transform, we have

$$\left\langle \int_0^\infty e^{-\lambda t} e_i P(t) dt, x \right\rangle = \left\langle e_i, \lambda \int_0^\infty e^{-\lambda t} S(t)x dt \right\rangle$$

which implies, by integration by parts, that

$$\lambda \int_0^\infty e^{-\lambda t} \langle e_i, S(t)x \rangle dt = \lambda \int_0^\infty e^{-\lambda t} \int_0^t \langle e_i P(s), x \rangle ds dt.$$

Thus, by the uniqueness of Laplace transform,

$$\langle e_i, S(t)x \rangle = \int_0^t \langle e_i P(s), x \rangle ds = \left\langle \int_0^t e_i P(s) ds, x \right\rangle = \langle e_i, T(t)x \rangle$$

for  $i \in E$ , which implies that  $S(t)x = T(t)x$ . Thus we have proved the desired conclusion.

Now we prove the converse question. Let  $T(t) = (T_{ij}(t))$  be an integrated semigroup such that (i)–(iv) hold. We first show that  $t \mapsto T(t)e_j$  from  $[0, \infty)$  into  $l_\infty$  is continuously differentiable for every  $j \in E$ . Since  $\|T(t)\| \leq t$  for all  $t \geq 0$ ,  $T(t)$  is exponentially bounded with any bound  $\omega > 0$ , and it follows from [2, Theorem 3.1] that  $(0, +\infty) \subset \rho(\Omega_\infty)$  and

$$R(\lambda, \Omega_\infty)x = (\lambda - \Omega_\infty)^{-1}x = \int_0^\infty \lambda e^{-\lambda t} T(t)x \, dt \quad \text{for } \lambda > 0, x \in X,$$

which implies, since  $\|T(t)\| \leq t$ , that

$$\|R(\lambda, \Omega_\infty)\| \leq \frac{1}{\lambda} \quad \text{for } \lambda > 0.$$

Differentiating  $R(\lambda, \Omega_\infty)$   $n$ -times in  $\lambda$  and using repeatedly above inequality, we get

$$\sup\{\|\lambda^{n+1} R^{(n)}(\lambda, \Omega_\infty)/n!\|: \lambda > 0, n = 0, 1, 2, \dots\} \leq 1.$$

Thus, by the integrated version of Widder's theorem [2, Theorem 1.1], there exists a function  $S: [0, \infty) \mapsto B(l_\infty)$  satisfying

$$S(0) = 0 \quad \text{and} \quad \|S(t+h) - S(t)\| \leq h \quad (h \geq 0, t \geq 0),$$

such that

$$R(\lambda, \Omega_\infty)x = \int_0^\infty \lambda e^{-\lambda t} S(t)x \, dt \quad \text{for } \lambda > 0, x \in l_\infty.$$

By the uniqueness of Laplace transform,  $S(t) = T(t)$ , and thus we have

$$\|T(t+h) - T(t)\| \leq h \quad (h \geq 0, t \geq 0). \quad (3.6)$$

Let  $Z = \{x \in l_\infty: T(t)x \text{ is continuously differentiable function of } t \geq 0\}$ . By using (3.6), it is easy to show that  $Z$  is a closed subspace of  $l_\infty$ , which implies that  $\overline{D(\Omega_\infty)} \subset Z$ , since  $D(\Omega_\infty) \subset Z$  (see [2]). By assumption (iv), it follows that  $e_j \in Z$  for every  $j \in E$ . That is, we have proved that  $T(t)e_j$  is continuously differentiable for  $t \geq 0$  in  $l_\infty$ .

We then define

$$P_{ij}(t) = \left\langle e_i, \frac{d}{dt} T(t)e_j \right\rangle = T'_{ij}(t), \quad i, j \in E, t > 0, \quad (3.7)$$

and show that  $P(t) = (P_{ij}(t))$  is a column continuous transition function. Indeed, since  $T(t)$  is increasing, it follows that  $P_{ij}(t) \geq 0$  and  $P_{ij}(0) = \langle e_i, \frac{d}{dt} T(t)e_j|_{t=0} \rangle = \delta_{ij} + \Omega_\infty T(t)e_j|_{t=0} = \delta_{ij}$ . (3.6), together with Fatou–Lebesgue lemma, implies that

$$\begin{aligned} \sum_{j \in E} P_{ij}(t) &= \sum_{j \in E} \lim_{h \downarrow 0} \frac{T_{ij}(t+h) - T_{ij}(t)}{h} \\ &\leq \liminf_{h \rightarrow 0} \frac{1}{h} \sum_{j \in E} |T_{ij}(t+h) - T_{ij}(t)| \\ &\leq \liminf_{h \rightarrow 0} \frac{1}{h} \|T(t+h) - T(t)\| \leq 1. \end{aligned}$$

Obviously,  $P_{ij}(t)$  is a continuous function of  $t \geq 0$ , and  $P(t)e_j = \frac{d}{dt}T(t)e_j$  is continuous in  $l_\infty$ , as we have proved, that is,  $P(t)$  is column continuous. To complete the proof, we have only to show that  $P(t)$  has the semigroup property:

$$P_{ij}(t+s) = \sum_{k \in E} P_{ik}(t)P_{kj}(s) \quad \text{for all } s, t \geq 0, i, j \in E. \quad (3.8)$$

To this end, we let, for fixed  $i, j \in E$ , and  $t, s \geq 0$ ,

$$f(t, s) = \langle e_i, T(t)T(s)e_j \rangle = \left\langle e_i, \int_0^t (T(\tau+s)e_j - T(\tau)e_j) d\tau \right\rangle. \quad (3.9)$$

Differentiating (3.9) with respect to  $t$  and with respect to  $s$  again, we get

$$\frac{\partial}{\partial t} f(t, s) = \langle e_i, T(t+s)e_j - T(t)e_j \rangle; \quad (3.10)$$

$$\frac{\partial^2}{\partial s \partial t} f(t, s) = \left\langle e_i, \frac{\partial}{\partial s} T(t+s)e_j \right\rangle = P_{ij}(t+s). \quad (3.11)$$

On the other hand,

$$f(t, s) = \langle e_i, T(s)T(t)e_j \rangle = \sum_{k \in E} T_{ik}(s)T_{kj}(t). \quad (3.12)$$

Differentiating (3.12) in  $t$ , and using the Lebesgue bounded differentiable theorem (since  $T_{ik}(s)T'_{kj}(t) = T_{ik}(s)P_{kj}(t) \leq T_{ik}(s)$ , and  $\sum_k T_{ik}(s) \leq \|T(s)\| < +\infty$ ), we get

$$\frac{\partial}{\partial t} f(t, s) = \sum_{k \in E} T_{ik}(s)T'_{kj}(t). \quad (3.13)$$

Thus, it follows from Fatou–Lebesgue lemma, that

$$\begin{aligned} \frac{\partial^2}{\partial s \partial t} f(t, s) &= \lim_{h \rightarrow 0^+} \sum_{k \in E} \frac{T_{ik}(s+h) - T_{ik}(s)}{h} T'_{kj}(t) \\ &\geq \sum_{k \in E} \lim_{h \rightarrow 0^+} \frac{T_{ik}(s+h) - T_{ik}(s)}{h} T'_{kj}(t) \\ &= \sum_{k \in E} T'_{ik}(s)T'_{kj}(t) = \sum_{k \in E} P_{ik}(s)P_{kj}(t). \end{aligned}$$

This together with (3.11), implies that

$$P_{ij}(t+s) \geq \sum_{k \in E} P_{ik}(s)P_{kj}(t). \quad (3.14)$$

To prove (3.14) is an equality, we will use the Lebesgue bounded differentiable theorem on (3.13). To find the bounded controlling function, we let  $i \in E$  and  $\tau > 0$  be fixed. It follows from (3.14) that  $P_{ii}(\tau) \geq P_{ii}(\frac{\tau}{n})^n$  for  $n = 1, 2, \dots$ , which implies that  $P_{ii}(s) > 0$  for every  $s \geq 0$ . If  $c = \min_{0 \leq s \leq \tau} P_{ii}(s)$ , then  $c > 0$ . By (3.14) again,  $P_{ik}(\tau) \geq P_{ii}(\tau-s)P_{ik}(s) \geq cP_{ik}(s)$  for every  $k \in E$  and  $0 < s < \tau$ , that is

$$\sup_{0 \leq s \leq \tau} P_{ik}(s) \leq \frac{P_{ik}(\tau)}{c} \quad \text{for every } k \in E. \quad (3.15)$$



Differentiating (3.13) with respect to  $s$  for  $0 \leq s \leq \tau$ , by the bounded differentiable theorem (where the bounded function is  $\sum_k P_{ik}(\tau)T'_{kj}(t) = \sum_k P_{ik}(\tau)P_{kj}(t) \leq P_{ij}(\tau+t) < +\infty$ , since  $|T'_{ik}(s)T'_{kj}(t)| \leq \frac{P_{ik}(\tau)}{c}T'_{kj}(t)$  for  $0 \leq s \leq \tau$ ), we obtain

$$\frac{\partial^2}{\partial s \partial t} f(t, s) = \sum_{k \in E} T'_{ik}(s)T'_{kj}(t) = \sum_{k \in E} P_{ik}(s)P_{kj}(t) \quad (3.16)$$

for  $0 \leq s \leq \tau$  and  $t \geq 0$ . Since  $\tau$  is arbitrary, (3.16) holds for all  $s \geq 0$  and  $t \geq 0$ . This together with (3.11) implies (3.8), which completes the proof of Theorem 3.3.  $\square$

**Remark.** (1)  $T_{ij}(t)$  in Theorem 3.3 has clearly probabilistic explanation:  $T_{ij}(t)$  is the mean time spent in  $j$  before time  $t$  if the chain starts in  $i$ . Indeed, if we denote  $X(t)$  being the corresponding CTMC, then

$$\begin{aligned} T_{ij}(t) &= \int_0^t P_{ij}(s) ds = \int_0^t E[I_{X(s)=j} | X(0)=i] ds \\ &= E\left[\int_0^t I_{X(s)=j} ds \mid X(0)=i\right] \\ &= E[\text{time spent in } j \text{ before time } t \mid \text{start in } i]. \end{aligned}$$

(2)  $T(t)$  is not an integrated  $c_0$ -semigroup except that the generator  $\Omega_\infty$  is bounded. This is easy to prove by using William's theorem (see [15] or [1]).

Finally we give the proof of Theorems 3.1 and 2.4 by using Theorem 3.3.

**Proof of Theorem 3.1.** Necessity follows directly from Theorem 3.3(iv) and (v).

*Sufficiency.* Let  $Y = \overline{D(\Omega^*)} \subset l_\infty$ . By the theory of dual semigroup (see [13, Theorem 1.10.4]), it follows that  $P(t)Y \subset Y$ , and the restriction  $P(t)|_Y$  of  $P(t)$  on  $Y$  is a strongly continuous semigroup on  $Y$ , and its generator  $\Omega^+ = \Omega^*|_Y$ , the part of  $\Omega^*$  in  $Y$ . Now if  $e_j \in Y$ , then  $P(t)e_j$  is continuous in  $Y$  and thus in  $l_\infty$  for  $t \geq 0$ , which implies that  $P(t)$  is column continuous.  $\square$

**Proof of Theorem 2.4.** Let  $R(\lambda)$  be the resolvent function,  $R(\lambda, \Omega)$  and  $R(\lambda, \Omega^*)$  be the resolvent operator of  $\Omega$  and  $\Omega^*$ , respectively. It is obvious that  $R(\lambda) = R(\lambda, \Omega)$  (as two bounded operators on  $l_1$ ) and  $R(\lambda) = R(\lambda, \Omega^*)$  (as two bounded operators on  $l_\infty$ ), where the operator  $R(\lambda)$  is defined by  $y \mapsto yR(\lambda)$  for  $y \in l_1$  and by  $x \mapsto R(\lambda)x$  for  $x \in l_\infty$ , respectively. For  $x \in D(\Omega^*)$ , we have

$$\begin{aligned} \|\lambda R(\lambda)x - x\|_\infty &= \|\lambda R(\lambda : \Omega^*)x - x\|_\infty \\ &= \|R(\lambda, \Omega^*)\Omega^*x\|_\infty \leq \frac{1}{\lambda} \|\Omega^*x\|_\infty \rightarrow 0 \end{aligned} \quad (3.17)$$

as  $\lambda \rightarrow \infty$ . Since  $\|\lambda R(\lambda)\| \leq 1$ , it follows that (3.17) holds for all  $x \in \overline{D(\Omega^*)}$ . Now if  $P(t)$  is column continuous, then, by Theorem 3.1, every  $e_j \in \overline{D(\Omega^*)}$  for  $j \in E$ . Then, by (3.17),  $\lambda R(\lambda)e_j \rightarrow e_j$  as  $\lambda \rightarrow \infty$ , that is,  $R(\lambda)$  is column continuous. Conversely, suppose  $\lambda R(\lambda)e_j \rightarrow e_j$  as  $\lambda \rightarrow \infty$  in  $l_\infty$  for every  $j \in E$ . Since  $R(\lambda)e_j = R(\lambda, \Omega^*)e_j \in D(\Omega^*)$ , it follows that thus  $e_j \in \overline{D(\Omega^*)}$ . Therefore, by Theorem 3.1,  $P(t)$  is column continuous.  $\square$

#### 4. Characterizations of $q$ -matrices for column continuities

In this section, we will consider Question 2 announced as in introduction. We first introduce some definitions.

**Definition 4.1.** A  $q$ -matrix  $Q = (q_{ij})$  is called to be *column bounded* if every column of  $Q$  is bounded, that is

$$\sup_i |q_{ij}| < +\infty \quad \text{for every } j \in E; \quad (4.1)$$

$Q$  is called to be *column almost-bounded* if for every  $j \in E$ ,

$$\liminf_{i_n \rightarrow \infty} \frac{q_{i_n j}}{q_{i_n}} = 0 \quad (4.2)$$

for every subsequence  $\{i_n\}$  of  $\{i\}$  satisfying  $q_{i_n} \uparrow \infty$  as  $n \rightarrow \infty$ .

We then give our main result in this section.

**Theorem 4.2.** Let  $Q = (q_{ij})$  be a given (stable)  $q$ -matrix. If  $Q$  is column bounded, then all  $Q$ -functions which satisfy forward equations are column continuous, in particular, the minimal one is. Conversely, if there exists a  $Q$ -function  $P(t)$  such that  $P(t)$  is column continuous, then the minimal  $Q$ -function  $F(t)$  is column continuous and  $Q$  is column almost-bounded.

To prove Theorem 4.2, we need some notations and lemmas. Note that a  $q$ -matrix  $Q$  defines two operators  $Q_1$  and  $Q_\infty$  with the maximum domain, on Banach space  $l_1$  and  $l_\infty$ , respectively,

$$\begin{aligned} yQ_1 &= yQ, & y \in D(Q_1) &= \{y \in l_1 \mid yQ \text{ is well defined and } yQ \in l_1\}; \\ Q_\infty x &= Qx, & x \in D(Q_\infty) &= \{x \in l_\infty \mid Qx \in l_\infty\}, \end{aligned}$$

where  $y$  is row vector and  $x$  is column vector.

**Lemma 4.3.** Given a  $q$ -matrix  $Q$ , let  $P(t)$  be a column continuous  $Q$ -function and satisfy the backward equations, then

$$e_j \in \overline{D(Q_\infty)} \quad \text{for every } j \in E. \quad (4.3)$$

**Proof.** Let  $Q_0$  be an operator on  $l_1$  defined by

$$yQ_0 = yQ \quad \forall y \in D(Q_0) = \text{span}_{i \in E} \{e_i\}. \quad (4.4)$$

Then  $Q_0$  is densely defined on  $l_1$ . It is easy to prove that the dual operator  $Q_0^* = Q_\infty$  (see [11, 14]). Let  $\Omega$  be the generator of the semigroup  $P(t)$  on  $l_1$ . Since  $P(t)$  satisfies the backward equations, it follows from [1, Proposition 1.4.5] that  $Q_0 \subset \Omega$ . Thus  $Q_\infty = Q_0^* \supset \Omega^*$ . Since  $P(t)$  is also column continuous, it follows from Theorem 3.1 that  $e_j \in \overline{D(\Omega^*)} \subset \overline{D(Q_\infty)}$  for every  $j \in E$ , which proved (4.3).  $\square$

**Lemma 4.4.** If  $Q$  is zero-exit, then the minimal  $Q$ -function is column continuous if and only if  $Q$  satisfies (4.3).

**Proof.** It follows from [11, Lemma 5.6] that  $\overline{Q_0} = \Omega$  if and only if  $Q$  is zero-exit, where  $Q_0$  is defined as in (4.4),  $\overline{Q_0}$  is the closure of the closable operator  $Q_0$  and  $\Omega$  is the generator of the minimal semigroup. Thus if  $Q$  is zero-exit then  $\Omega^* = \overline{Q_0^*} = Q_0^* = Q_\infty$ . Now assume  $Q$  also satisfies (4.3), then

$$e_j \in \overline{D(Q_\infty)} = \overline{D(\Omega^*)} \quad \text{for every } j \in E,$$

which implies by Theorem 3.1 that the minimal  $Q$ -function  $F(t)$  is column continuous.  $\square$

**Lemma 4.5.** *If  $Q$  satisfies*

$$e_j \in \overline{D(Q_1^*)} \quad \text{for every } j \in E, \quad (4.5)$$

*then all  $Q$ -functions which satisfy the forward equations are column continuous.*

**Proof.** Let  $P(t)$  be a  $Q$ -function which satisfies the forward equations with the generator  $\Omega$ . Then, by [1, Proposition 1.4.6] or [14],  $\Omega \subset Q_1$ , and therefore  $Q_1^* \subset \Omega^*$ . Thus if (4.5) holds then  $e_j \in \overline{D(Q_1^*)} \subset \overline{D(\Omega^*)}$ . Therefore by Theorem 3.1  $P(t)$  is column continuous.  $\square$

**Lemma 4.6.** *If the minimal  $Q$ -function  $F(t)$  is column continuous, then*

$$\lim_{\lambda \rightarrow \infty} \left( \sup_{i \neq j} \frac{q_{ij}}{\lambda + q_i} \right) = 0 \quad \text{for every } j \in E. \quad (4.6)$$

**Proof.** Because the minimal  $Q$ -resolvent  $\phi(\lambda)$  satisfies the backward equations, we have (see [1])

$$(\lambda + q_i)\phi_{ij}(\lambda) = \sum_{k \neq i} q_{ik}\phi_{kj}(\lambda) \geq q_{ij}\phi_{jj}(\lambda) \quad \text{for } i \neq j,$$

which implies that

$$\frac{q_{ij}}{\lambda + q_i} \leq \frac{\phi_{ij}(\lambda)}{\phi_{jj}(\lambda)} = \frac{\lambda\phi_{ij}(\lambda)}{\lambda\phi_{jj}(\lambda)}, \quad i \neq j.$$

Thus

$$\sup_{i \neq j} \frac{q_{ij}}{\lambda + q_i} \leq \left[ \sup_{i \neq j} \lambda\phi_{ij}(\lambda) \right] \cdot \frac{1}{\lambda\phi_{jj}(\lambda)}.$$

Let  $\lambda \rightarrow \infty$  in above inequality yields (4.6), because we see from Theorem 2.4 that  $\sup_{i \neq j} \lambda\phi_{ij}(\lambda) \rightarrow 0$  and  $\lambda\phi_{jj}(\lambda) \rightarrow 1$  as  $\lambda \rightarrow \infty$ .  $\square$

**Lemma 4.7.** *If there exists a  $Q$ -function  $P(t)$  such that  $P(t)$  is column continuous, then the minimal  $Q$ -function  $F(t)$  is column continuous.*

**Proof.** Since for every  $j \in E$ ,

$$\sup_{i \neq j} f_{ij}(h) \leq \sup_{i \neq j} P_{ij}(h) \rightarrow 0$$

as  $h \rightarrow 0$ . The desired conclusion follows from Proposition 2.1.  $\square$

**Proof of Theorem 4.2.** Let  $Q$  be column bounded. By Lemma 4.5, we have only to show that  $e_j \in D(Q_1^*)$  for every  $j \in E$ . Indeed, let  $j \in E$  be fixed. For  $x \in D(Q_1) \subset l_1$ , we have

$$\langle xQ_1, e_j \rangle = \langle xQ, e_j \rangle = \left\langle \sum_{i \in E} x_i q_{ij}, e_j \right\rangle = \sum_{i \in E} x_i q_{ij}.$$

Let  $z = (q_{0j}, q_{1j}, q_{2j}, \dots)^T$ . Since  $Q$  is column bounded, it follows that  $z \in l_\infty$  and  $\sum_i x_i q_{ij} = \langle x, z \rangle$ . Therefore

$$\langle xQ_1, e_j \rangle = \langle x, z \rangle \quad \text{for every } x \in D(Q_1),$$

which implies that  $e_j \in D(Q_1^*)$  and  $Q_1^* e_j = z \in l_\infty$  for every  $j \in E$ . Thus the first argument in Theorem 4.2 follows from Lemma 4.5.

Conversely, if there exists a column continuous  $Q$ -function, then, by Lemma 4.7, the minimal  $Q$ -function  $F(t)$  is column continuous. By Lemma 4.6,  $Q$  must satisfy (4.6). We have to show that  $Q$  is column almost-bounded. If not, then there exist a state  $j \in E$  and a subsequence  $\{i_n\}$  such that

$$\limsup_{i_n \rightarrow \infty} \frac{q_{i_n j}}{q_{i_n}} = c_j > 0 \quad \text{and} \quad q_{i_n} \uparrow \infty \quad (n \rightarrow \infty). \quad (4.7)$$

Let  $\lambda > 0$  be fixed. Then by (4.7) there exist an  $N = N(\lambda)$  such that

$$\frac{q_{i_n j}}{q_{i_n}} \geq \frac{1}{2} c_j \quad \text{and} \quad q_{i_n} \geq \lambda$$

for  $n \geq N$ , which implies that

$$\sup_{i \neq j} \frac{q_{ij}}{\lambda + q_i} \geq \sup_{n \geq N} \frac{q_{i_n j}}{q_{i_n} + q_{i_n}} \geq \frac{1}{4} c_j.$$

Noting that  $\lambda > 0$  is arbitrary, we have proved that

$$\lim_{\lambda \rightarrow \infty} \left( \sup_{i \neq j} \frac{q_{ij}}{\lambda + q_i} \right) \geq \frac{1}{4} c_j > 0,$$

which contradicts (4.6). Thus  $Q$  must be column almost-bounded.  $\square$

## 5. Constructions of the non-minimal column continuous $Q$ -functions

We consider only a special class of  $q$ -matrices:  $Q = (q_{ij})$  is conservative, single-exit and column bounded (this class contains the important birth–death process and branching process). For such  $q$ -matrices, the constructions of all  $Q$ -functions are clear. Let  $\Phi(\lambda) = (\phi_{ij}(\lambda))$  be the minimal  $Q$ -resolvent,  $z(\lambda) = 1 - \lambda \Phi(\lambda)1$ . Then, by the construction theorem (see [1, Theorem 4.2.6]), all the  $Q$ -resolvent  $\Psi(\lambda) = (\psi_{ij}(\lambda))$ ,  $\lambda > 0$ , is of the following form:

$$\psi_{ij}(\lambda) = \phi_{ij}(\lambda) + z_i(\lambda) y_j(\lambda), \quad (5.1)$$

where

$$y(\lambda) = \frac{\eta(\lambda)}{c + \lambda \eta(\lambda)1}. \quad (5.2)$$

Here,

$$\eta(\lambda) = \bar{\eta}(\lambda) + b\phi(\lambda), \quad \bar{\eta}(\lambda) = \eta + (\lambda_0 - \lambda)\eta\phi(\lambda) \quad (5.3)$$

and  $c \geq 0$ ,  $\lambda_0 > 0$ ,  $\eta \in l_1^+(\lambda_0)$ ,  $b \geq 0$  such that  $b\Phi(\lambda) \in l_1$  for some (and thus for all)  $\lambda > 0$ . The following result constructs all column continuous  $Q$ -function for above  $q$ -matrix  $Q$ .

**Theorem 5.1.** *Let  $Q$  be a conservative, single-exit and column-bounded  $q$ -matrix. Then the  $Q$ -resolvent  $\Psi(\lambda)$  is column continuous if and only if either  $b = 0$  or  $b \neq 0$  such that  $\lim_{\lambda \rightarrow \infty} \lambda \eta(\lambda)1 = +\infty$ .*

**Proof.** *Sufficiency.* Note that  $\Psi(\lambda)$  satisfies the forward equations if and only if  $b = 0$  (see [1, Theorem 4.2.6]). Thus if  $b = 0$  then  $\Psi(\lambda)$  is column continuous by Theorem 4.2. Assume now  $b \neq 0$  such that  $\lim_{\lambda \rightarrow \infty} \lambda \eta(\lambda)1 = +\infty$ . Then, for every fixed  $j \in E$ ,

$$\lim_{\lambda \rightarrow \infty} \lambda y_j(\lambda) = \lim_{\lambda \rightarrow \infty} \frac{\lambda \eta_j(\lambda)}{c + \lambda \eta(\lambda)1} = \lim_{\lambda \rightarrow \infty} \frac{b_j}{c + \lambda \eta(\lambda)1} = 0,$$

here, we use the fact that  $\lim_{\lambda \rightarrow \infty} \lambda \eta_j(\lambda) = b_j$  (see [1, Proposition 4.1.12]). Since  $|z_i(\lambda)| \leq 1$  for all  $i \in E$ , it follows from Theorems 4.2 and 2.4 that

$$\sup_{i \neq j} \lambda \psi_{ij}(\lambda) \leq \sup_{i \neq j} \lambda \phi_{ij}(\lambda) + \sup_{i \neq j} \lambda z_i(\lambda) y_j(\lambda) \leq \sup_{i \neq j} \lambda \phi_{ij}(\lambda) + \lambda y_j(\lambda) \rightarrow 0$$

as  $\lambda \rightarrow \infty$ . That is,  $\Psi(\lambda)$  is column continuous, and thus, by Theorem 2.4, the corresponding  $Q$ -function  $P(t)$  is column continuous.

*Necessity.* Let  $\Psi(\lambda)$  be column continuous. Since  $\Phi(\lambda)$  is column continuous by Theorem 4.2, it follows from (5.1) that

$$\sup_i z_i(\lambda) (\lambda y_j(\lambda)) \leq \sup_i |\lambda \psi_{ij}(\lambda) - \delta_{ij}| + \sup_i |\lambda \phi_{ij}(\lambda) - \delta_{ij}| \rightarrow 0 \quad (5.4)$$

as  $\lambda \rightarrow \infty$  for every  $j \in E$ . We claim that

$$\lim_{\lambda \rightarrow \infty} \lambda y_j(\lambda) = 0 \quad \text{for every } j \in E. \quad (5.5)$$

Indeed, if not, then there exists a state  $j_0 \in E$  such that  $\lim_{\lambda \rightarrow \infty} \lambda y_{j_0}(\lambda) > 0$ , here we use the fact that the limit  $\lim_{\lambda \rightarrow \infty} \lambda y_j(\lambda)$  always exists (see [1]). Thus it follows from (5.4) that

$$\lim_{\lambda \rightarrow \infty} \left[ \sup_i z_i(\lambda) \right] = \lim_{\lambda \rightarrow \infty} \left[ \sup_i z_i(\lambda) (\lambda y_{j_0}(\lambda)) \right] \cdot \frac{1}{\lambda y_{j_0}(\lambda)} = 0,$$

which means that, for  $0 < \varepsilon < 1/2$  and large  $\lambda > 0$ ,

$$\sup_i z_i(\lambda) = \sup_i \left( 1 - \lambda \sum_k \phi_{ik}(\lambda) \right) = 1 - \inf_i \lambda \sum_k \phi_{ik}(\lambda) < \varepsilon$$

that is

$$\lambda \Phi(\lambda)1 \geq (1 - \varepsilon) \cdot 1 \quad \text{for large } \lambda > 0,$$

which implies by [1, Lemma 4.3.1] that  $Q$  is zero-exit. This contradicts to the assumption that  $Q$  is single-exit and thus (5.5) holds. Since now  $\lambda \eta_j(\lambda) \rightarrow b_j$  as  $\lambda \rightarrow \infty$  for every  $j \in E$ , it follows from (5.5) and (5.2) that

$$\lim_{\lambda \rightarrow \infty} \lambda y_j(\lambda) = \frac{b_j}{c + \lim_{\lambda \rightarrow \infty} \lambda \eta(\lambda)1} = 0 \quad \text{for every } j \in E. \quad (5.6)$$

Here  $\lambda \eta(\lambda)1$  increases as  $\lambda \rightarrow \infty$  (see [1]). Thus, if  $b \neq 0$ , then there exists a state  $j_0 \in E$  such that  $b_{j_0} > 0$ . It follows from (5.6) that  $\lim_{\lambda \rightarrow \infty} \lambda \eta(\lambda)1 = +\infty$ , which proved the needed conclusion.  $\square$

## 6. Examples

**Example 6.1.** All *monotone transition functions*  $P(t)$  ( $P(t)$  is not necessarily the minimal one) are column continuous. To prove this fact, we let  $Q$  be its  $q$ -matrix ( $Q$  must be stable), and let  $\tilde{P}(t)$  be its dual function with  $q$ -matrix  $\tilde{Q}$ . Then we have (see [4,12,18])

$$q_{ij} = \sum_{k=0}^i (\tilde{q}_{jk} - \tilde{q}_{j+1,k}) \quad (\forall i, j \in E),$$

which implies that

$$|q_{ij}| \leq \sum_{k=0}^{\infty} |\tilde{q}_{jk}| + \sum_{k=0}^{\infty} |\tilde{q}_{j+1,k}| \leq 2(\tilde{q}_j + \tilde{q}_{j+1}) \quad \forall i \in E.$$

Thus  $Q$  is column bounded. Since by [4, Theorem 2.3] all monotone transition functions satisfy the forward equations, it follows from Theorem 4.2 that  $P(t)$  is column continuous.

**Example 6.2.** All *Feller–Reuter–Riley transition functions* (and thus all *dual functions* (see [12, 18])) are column continuous. This has been proved by Reuter and Riley [15].

**Example 6.3.** *Birth–death matrices, branching matrices.* For the two classes of  $Q$ -matrices, the minimal  $Q$ -function is column continuous. Applying Theorem 5.1, we have in fact constructed all column continuous birth–death  $Q$ -functions, as well as column continuous branching  $Q$ -functions.

**Example 6.4.** Let  $Q$  be conservative, single-exit and column bounded  $q$ -matrix. Then there exist indeed infinitely many  $Q$ -functions which are not column continuous.

Take  $\eta = 0$  and  $0 \neq b \in l_1$  in Theorem 5.1. Then  $\eta(\lambda) = b\phi(\lambda) \in l_1$  for every  $\lambda > 0$ . Thus

$$\lambda \eta(\lambda) 1 = \|\lambda \eta(\lambda)\|_1 = \|\lambda b \Phi(\lambda)\|_1 \leq \|\lambda \Phi(\lambda)\|_1 \|b\|_1 \leq \|b\|_1 < +\infty.$$

Thus,  $\Psi(\lambda)$ , defined as in (5.1), is not column continuous by Theorem 5.1.

**Example 6.5.** There exists a column almost-bounded  $q$ -matrix  $Q$ , which is not column bounded, such that the minimal  $Q$  function  $F(t)$  is column continuous. Let

$$Q = \begin{pmatrix} 0 & 0 & 0 & 0 & \cdots \\ 1 & -1 & 0 & 0 & \cdots \\ 2 & 0 & -2^2 & 0 & \cdots \\ 3 & 0 & 0 & -3^2 & \cdots \\ \cdots & \cdots & \cdots & \cdots & \cdots \end{pmatrix}.$$

Then it is easy to see that  $Q$  is column almost-bounded (not column bounded) and  $Q$  is zero-exit. We will show that  $Q$  satisfied (4.3), that is  $e_j \in \overline{D(Q_\infty)}$  for all  $j \in E$ . Indeed, obviously  $e_j \in D(Q_\infty)$  for  $j \neq 0$ . Take

$$x = \left(1, 1, \frac{1}{2}, \frac{1}{3}, \dots\right) \in l_\infty.$$

Then  $Qx = 0$ . Thus  $x \in D(Q_\infty)$ . Then

$$x^{(m)} = x - \sum_{n=1}^m \frac{1}{n} e_n = \left(1, 0, \dots, 0, \frac{1}{m+1}, \frac{1}{m+2}, \dots\right) \in D(Q_\infty).$$

But  $\|x^{(m)} - e_0\| = \frac{1}{m+1} \rightarrow 0$  (as  $m \rightarrow \infty$ ), which implies that  $e_0 = \lim_{m \rightarrow \infty} x^{(m)} \in \overline{D(Q_\infty)}$ . Therefore the minimal  $Q$ -function  $F(t)$ , by Lemma 4.4, is column continuous as desired.

## References

- [1] W.J. Anderson, Continuous Time Markov Chains, Springer Ser. Statist., Springer, New York, 1991.
- [2] W. Arendt, Vector valued Laplace transforms and Cauchy problems, Israel J. Math. 59 (2) (1987) 327–352.
- [3] A.Y. Chen, Applications of Feller–Reuter–Riley transition functions, J. Math. Anal. Appl. 260 (2001) 139–456.
- [4] A.Y. Chen, H.J. Zhang, Existence, uniqueness, and constructions for stochastically monotone  $q$ -process, Southeast Asian Bull. Math. 23 (1999) 559–583.
- [5] M.F. Chen, From Markov Chains to Non-Equilibrium Particle Systems, World Scientific, Singapore, 1992.
- [6] R. DeLaubenfels, Existence Families, Functional Calculi and Evolution Equations, Lecture Notes in Math., vol. 1570, Springer, 1994.
- [7] R. DeLaubenfels,  $C$ -Semigroups and the Cauchy problem, J. Funct. Anal. 111 (1993) 44–61.
- [8] R. DeLaubenfels, Integrated semigroups,  $C$ -semigroups, and the abstract Cauchy problem, Semigroup Forum 41 (1990) 83–95.
- [9] R. DeLaubenfels, Z. Huang, S. Wang, Y. Wang, Laplace transforms of polynomially bounded vector-valued functions and semigroups of operators, Israel J. Math. 98 (1997) 189–207.
- [10] Y.R. Li, The abstract Cauchy problem and a generalization of the Lumer–Phillips theorem, Chinese Ann. Math. Ser. B 19 (1998) 349–358.
- [11] Y.R. Li, Contraction integrated semigroups and their application to continuous-time Markov chains, Acta Math. Sin. (Engl. Ser.) 19 (2003) 605–618.
- [12] Y.R. Li, Dual and Feller–Reuter–Riley transition functions, J. Math. Anal. Appl. 313 (2006) 461–474.
- [13] A. Pazy, Semigroups of Linear Operators and Applications to Partial Differential Equations, Springer, New York, 1983.
- [14] G.E.H. Reuter, Denumerable Markov process and the associated contraction semigroups on  $l$ , Acta Math. 97 (1957) 1–46.
- [15] G.H.E. Reuter, P.W. Riley, The Feller property for Markov semigroups on a countable state space, J. London Math. Soc. 5 (1972) 267–275.
- [16] H.R. Thieme, Integrated semigroups and integrated solutions to abstract Cauchy problems, J. Math. Anal. Appl. 152 (1990) 416–447.
- [17] K. Yosida, Functional Analysis, Springer, Berlin, 1978.
- [18] H. Zhang, A. Chen, Stochastic comparability and dual  $Q$ -functions, J. Math. Anal. Appl. 234 (1999) 482–499.